Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Project Name: SR 1737, REPLACEMENT OF BRIDGE 79 OVER CANEY CREEK

State: NC Opened at: Sterling, VA
County: JACKSON By: Shirley Anderson
NANTAHALA Date: 02/08/2012

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Shirley Anderson

Title: Contract Specialist Date: 02/08/2012

Contract Awarded to: Bluegrass Contracting Corporation Date:

Contractor	Bid Amount	Responsive
Owle Construction LLC	2,011,586.00	
120 Hoot Owl Road		
Whitter, NC 28789		
Bluegrass Contracting Corporation	2,058,313.00	
1075 Red Mile Road		
Lexington, KY 40504		
Crowder Construction Company	2,167,400.00	
P.O. Box 30007		
Charlotte, NC 28230		
Taylor & Murphy Construction Compan	2,235,433.00	
P.O. Box 6215	, ,	
Ashville, NC 28816		
DeVere Construction Company, Inc.	2,295,494.40	
1030 DeVere Drive		
Alpena, MI 49707		
Simpson Construction Company, Inc.	2,357,598.50	
P.O. Box 2727		
Cleveland, TN 37320		
Engineer's Estimate	2,700,000.00	

## Page 1

## TABULATION OF BIDS

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Owle	Construction LLC		ALL	195,000.00	195,000.00
	grass Contracting			207,000.00	207,000.00
-	der Construction	-		215,000.00	215,000.00
		struction Compan		100,000.00	100,000.00
DeVe	re Construction C	Company, Inc.		114,000.00	114,000.00
	son Construction			106,000.00	106,000.00
ENGI	NEER'S ESTIMA	ATE		221,986.00	221,986.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Owle	Construction LLC	$\mathbb{C}$	ALL	16,000.00	16,000.00
Blueg	grass Contracting	Corporation		13,100.00	13,100.00
Crow	der Construction	Company		20,000.00	20,000.00
Taylo	r & Murphy Cons	struction Compan		37,000.00	37,000.00
DeVe	re Construction C	Company, Inc.		25,000.00	25,000.00
Simps	son Construction	Company, Inc.		34,500.00	34,500.00
ENG	NEER'S ESTIMA	ATE		62,500.00	62,500.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
Owle	Construction LLC	C	ALL	50,000.00	50,000.00
Blueg	grass Contracting	Corporation		53,600.00	53,600.00
Crow	der Construction	Company		50,000.00	50,000.00
Taylo	r & Murphy Cons	struction Compan		5,600.00	5,600.00
DeVe	re Construction C	Company, Inc.		100,000.00	100,000.00
Simps	son Construction	Company, Inc.		35,000.00	35,000.00
ENG	NEER'S ESTIMA	ATE		25,000.00	25,000.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Owle	Construction LLC	C	1,850	1.80	3,330.00
Blueg	grass Contracting	Corporation		5.00	9,250.00
Crow	der Construction	Company		3.00	5,550.00
Taylo	r & Murphy Cons	struction Compan		3.75	6,937.50
DeVe	re Construction C	Company, Inc.		3.00	5,550.00
Simps	son Construction	Company, Inc.		2.75	5,087.50
ENG	NEER'S ESTIMA	ATE		3.50	6,475.00
15706-0400	EACH	SOIL EROSION CONT	ROL, SEDIMENT TRA	AP (SKIMMER BASIN)	)
Owle	Construction LLC	C	2	920.00	1,840.00
Blueg	grass Contracting	Corporation		1,400.00	2,800.00
Crow	der Construction	Company		2,000.00	4,000.00
Taylo	r & Murphy Cons	struction Compan		4,000.00	8,000.00
DeVe	re Construction C	Company, Inc.		5,000.00	10,000.00
Simps	son Construction	Company, Inc.		1,900.00	3,800.00
ENG	NEER'S ESTIMA	ATE		5,000.00	10,000.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15706-1000	EACH	SOIL EROSION CON	TROL, INLET PROTECT	ΓΙΟΝ	
Owle	Construction LLC		1	100.00	100.00
Blue	grass Contracting Co	orporation		169.00	169.00
Crow	der Construction Co	ompany		225.00	225.00
Taylo	or & Murphy Constr	uction Compan		300.00	300.00
DeV	ere Construction Con	mpany, Inc.		1,000.00	1,000.00
Simp	son Construction Co	ompany, Inc.		210.00	210.00
ENG	INEER'S ESTIMAT	TE		900.00	900.00
15706-2100	EACH	SOIL EROSION CON	ΓROL, FILTER BERM (	STRAW WATTLE WI	TH PAM)
Owle	Construction LLC		5	70.00	350.00
Blue	grass Contracting Co	orporation		185.00	925.00
Crow	der Construction Co	ompany		85.00	425.00
Taylo	or & Murphy Constr	uction Compan		225.00	1,125.00
DeV	ere Construction Con	mpany, Inc.		150.00	750.00
_	son Construction Co	= -		80.00	400.00
ENG	INEER'S ESTIMAT	TE		200.00	1,000.00
15709-0100	LB	SOIL EROSION CONT	ΓROL, POLYACRYLAN	MIDE POWDER	
Owle	Construction LLC		50	20.00	1,000.00
Blue	grass Contracting Co	orporation		3.00	150.00
Crow	der Construction Co	ompany		11.00	550.00
Taylo	or & Murphy Constr	uction Compan		175.00	8,750.00
DeV	ere Construction Con	mpany, Inc.		15.00	750.00
_	son Construction Co	= -		11.00	550.00
ENG	INEER'S ESTIMAT	E		25.00	1,250.00
15709-0200	LB	SOIL EROSION CON	ΓROL, POLYACRYLAN	MIDE BLOCK	
Owle	e Construction LLC		50	19.00	950.00
Blue	grass Contracting Co	orporation		3.00	150.00
Crow	der Construction Co	ompany		13.00	650.00
Taylo	or & Murphy Constr	uction Compan		175.00	8,750.00
DeV	ere Construction Con	mpany, Inc.		20.00	1,000.00
_	son Construction Co			12.50	625.00
ENG	INEER'S ESTIMAT	E		30.00	1,500.00
20101-0000	ACRE	CLEARING AND GRU	JBBING		
Owle	Construction LLC		2.0	1,650.00	3,300.00
Blue	grass Contracting Co	orporation		6,741.00	13,482.00
	der Construction Co	-		10,000.00	20,000.00
Taylo	or & Murphy Constr	uction Compan		20,000.00	40,000.00
DeV	ere Construction Con	mpany, Inc.		10,000.00	20,000.00
Simp	son Construction Co	ompany, Inc.		8,450.00	16,900.00
ENG	INEER'S ESTIMAT	Œ		9,000.00	18,000.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20301-0400	EACH	REMOVAL OF BRIDGE			
Owle Construction LLC			1	50,000.00	50,000.00
Blu	uegrass Contracting C	Corporation		15,500.00	15,500.00
	owder Construction C	_		90,000.00	90,000.00
Tay	ylor & Murphy Const	truction Compan		27,000.00	27,000.00
De	Vere Construction Co	ompany, Inc.		75,000.00	75,000.00
Sin	npson Construction C	Company, Inc.		200,000.00	200,000.00
EN	IGINEER'S ESTIMA	TE		75,000.00	75,000.00
20301-1100	EACH	REMOVAL OF GATE			
Ow	vle Construction LLC		1	100.00	100.00
Blu	uegrass Contracting C	Corporation		68.00	68.00
Cro	owder Construction C	Company		11.00	11.00
-	ylor & Murphy Const	=		200.00	200.00
	Vere Construction Co	• • •		500.00	500.00
	npson Construction C	- ·		15.00	15.00
EN	IGINEER'S ESTIMA	TE		400.00	400.00
20301-2400	EACH	REMOVAL OF SIGN			
Ow	vle Construction LLC		7	10.00	70.00
	uegrass Contracting C	_		79.00	553.00
	owder Construction C			11.00	77.00
-	ylor & Murphy Const	_		10.00	70.00
	Vere Construction Co			100.00	700.00
	npson Construction C			20.00	140.00
EN	IGINEER'S ESTIMA	TE		90.00	630.00
20302-0700		REMOVAL OF FENCE			
	vle Construction LLC		30	5.00	150.00
	egrass Contracting C			23.00	690.00
	owder Construction C			5.00	150.00
-	ylor & Murphy Const	•		3.50	105.00
	Vere Construction Co			10.00	300.00
	npson Construction C			6.00	180.00
EN	IGINEER'S ESTIMA	TE		4.00	120.00
20302-2100		REMOVAL OF PIPE CULV			
	vle Construction LLC		25	6.00	150.00
	iegrass Contracting C	•		35.00	875.00
	owder Construction C			11.00	275.00
-	ylor & Murphy Const	_		8.00	200.00
	Vere Construction Co			20.00	500.00
	npson Construction C			12.00	300.00
EN	IGINEER'S ESTIMA	.I.C.		20.00	500.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20303-1600	SQYD	REMOVAL OF PAVEN	MENT, ASPHALT		
Owle Construction LLC		1,740	2.80	4,872.00	
Blueg	rass Contracting (	Corporation		6.75	11,745.00
Crow	der Construction (	Company		5.00	8,700.00
Taylo	r & Murphy Cons	truction Compan		2.75	4,785.00
	re Construction C			7.50	13,050.00
_	son Construction ( NEER'S ESTIMA	= -		5.00 10.00	8,700.00 17,400.00
			SENTE AGRICATE A DIG		· · · · · · · · · · · · · · · · · · ·
20303-2000	SQYD	DETOUR RD.)	MENT, ASPHALT, 4-INC	Н DEPTH (ТЕМР. V	VIDENING &
Owle	Construction LLC		700	2.80	1,960.00
_	rass Contracting (	_		6.75	4,725.00
	der Construction (	= -		5.50	3,850.00
_	r & Murphy Cons	_		2.75	1,925.00
	re Construction C	• •		7.50	5,250.00
-	son Construction (	± • •		5.50	3,850.00
ENGI	NEER'S ESTIMA	ATE		10.00	7,000.00
20401-0000	CUYD	ROADWAY EXCAVA			
	Construction LLC		2,300	12.00	27,600.00
_	rass Contracting (	_		24.00	55,200.00
	der Construction (			10.00	23,000.00
-	r & Murphy Cons	_		12.25	28,175.00
	re Construction C	• •		30.00	69,000.00
_	son Construction ( NEER'S ESTIMA	= -		9.25	21,275.00
ENGI	NEEK'S ESTIMA	ATE		25.00	57,500.00
20403-0000	CUYD	UNCLASSIFIED BORE		15.00	47.250.00
	Construction LLC		3,150	15.00	47,250.00
_	rass Contracting ( der Construction (	•		35.00 16.00	110,250.00 50,400.00
	r & Murphy Cons	± •		15.50	48,825.00
=	re Construction C	=		15.00	47,250.00
	son Construction (			15.00	47,250.00
	NEER'S ESTIMA			20.00	63,000.00
20701-1300	SQYD	EARTHWORK GEOTE	EXTILE. TYPE IV-B		
	Construction LLC		300	2.00	600.00
	rass Contracting (			2.50	750.00
_	der Construction (	*		6.00	1,800.00
	r & Murphy Cons			4.00	1,200.00
-	re Construction C	_		3.00	900.00
	son Construction (	= -		5.25	1,575.00
ENGI	NEER'S ESTIMA	ATE		5.50	1,650.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20801-0000	CUYD	STRUCTURE EXCAV	ATION (BRIDGE)		
Owle Construction LLC			385	65.00	25,025.00
Blueg	grass Contracting Co	orporation		22.00	8,470.00
Crow	der Construction Co	ompany		55.00	21,175.00
-	r & Murphy Constr	=		12.50	4,812.50
	ere Construction Con	1 2		30.00	11,550.00
•	son Construction Co	± • ·		45.00	17,325.00
ENG	NEER'S ESTIMAT	TE		45.00	17,325.00
20815-0000	LPSM	COFFERDAMS			
Owle	Construction LLC		ALL	12,500.00	12,500.00
Blueg	grass Contracting Co	orporation		15,000.00	15,000.00
	der Construction Co			50,000.00	50,000.00
-	r & Murphy Constr	=		150,000.00	150,000.00
	re Construction Co			130,000.00	130,000.00
_	son Construction Co	= -		90,500.00	90,500.00
ENG	NEER'S ESTIMAT	TE		75,000.00	75,000.00
25101-2000	CUYD	PLACED RIPRAP, CLA	ASS 2		
Owle	Construction LLC		2	110.00	220.00
Blueg	grass Contracting Co	orporation		175.00	350.00
Crow	der Construction Co	ompany		80.00	160.00
Taylo	r & Murphy Constr	uction Compan		55.00	110.00
DeVe	ere Construction Con	mpany, Inc.		150.00	300.00
_	son Construction Co	= -		73.00	146.00
ENG	NEER'S ESTIMAT	TE		140.00	280.00
25101-3000	CUYD	PLACED RIPRAP, CLA	ASS 3		
Owle	Construction LLC		2	110.00	220.00
Blueg	grass Contracting Co	orporation		175.00	350.00
Crow	der Construction Co	ompany		170.00	340.00
-	r & Murphy Constr	_		55.00	110.00
	re Construction Co	1 2		150.00	300.00
_	son Construction Co			160.00	320.00
ENG	NEER'S ESTIMAT	TE		165.00	330.00
25101-6000	CUYD	PLACED RIPRAP, CLA	ASS 6		
Owle	Construction LLC		425	65.00	27,625.00
Blueg	grass Contracting Co	orporation		60.00	25,500.00
Crow	der Construction Co	ompany		100.00	42,500.00
Taylo	r & Murphy Constr	uction Compan		48.50	20,612.50
DeVe	ere Construction Con	mpany, Inc.		100.00	42,500.00
_	son Construction Co			95.00	40,375.00
ENG	NEER'S ESTIMAT	TE		300.00	127,500.00

## Page 6

## TABULATION OF BIDS

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
25602-0000	LNFT	GROUND ANCHOR			
Ow	le Construction LLC		900	95.00	85,500.00
Bluegrass Contracting Corporation				132.00	118,800.00
Cro	wder Construction C	Company		85.00	76,500.00
Tay	lor & Murphy Const	ruction Compan		177.50	159,750.00
DeV	Vere Construction Co	ompany, Inc.		150.00	135,000.00
Sim	pson Construction C	Company, Inc.		152.50	137,250.00
EN	GINEER'S ESTIMA	TE		130.00	117,000.00
30101-4000	TON	AGGREGATE BASE G	RADING C OR D		
Ow	le Construction LLC		1,450	33.00	47,850.00
Blu	egrass Contracting C	Corporation		28.25	40,962.50
Cro	wder Construction C	Company		33.00	47,850.00
Tay	lor & Murphy Const	ruction Compan		33.00	47,850.00
DeV	Vere Construction Co	ompany, Inc.		26.90	39,005.00
	ngan Construction C	Company, Inc.		31.50	45,675.00
Sim	ipson Constituction C				
	GINEER'S ESTIMA	= -		32.00	46,400.00
	-	TE SUPERPAVE PAVEME	ENT, 1/2-INCH NOMINA LLION ESAL (TYPE VI HNESS)	AL MAXIMUM SIZE	· · · · · · · · · · · · · · · · · · ·
40101-0500	GINEER'S ESTIMA	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUG	LLION ESAL (TYPE VI	AL MAXIMUM SIZE	· · · · · · · · · · · · · · · · · · ·
40101-0500 Ow	GINEER'S ESTIMA TON	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUG	LLION ESAL (TYPE VI HNESS)	AL MAXIMUM SIZE II PAVEMENT	;
40101-0500 Owi	GINEER'S ESTIMA  TON  le Construction LLC	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE	LLION ESAL (TYPE VI HNESS)	AL MAXIMUM SIZE II PAVEMENT 175.00	35,000.00
EN0 40101-0500 Ow Blu- Cro	TON  le Construction LLC egrass Contracting C	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company	LLION ESAL (TYPE VI HNESS)	AL MAXIMUM SIZE II PAVEMENT 175.00 151.25	35,000.00 30,250.00
40101-0500  Owing Blue Cro	TON  le Construction LLC egrass Contracting C wder Construction C	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan	LLION ESAL (TYPE VI HNESS)	AL MAXIMUM SIZE II PAVEMENT 175.00 151.25 200.00	35,000.00 30,250.00 40,000.00
A0101-0500  Ow Blue Cro Tay DeV	TON  le Construction LLC egrass Contracting Cowder Construction Color & Murphy Const	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan company, Inc.	LLION ESAL (TYPE VI HNESS)	AL MAXIMUM SIZE II PAVEMENT 175.00 151.25 200.00 175.00	35,000.00 30,250.00 40,000.00 35,000.00
Ow Blu- Cro Tay DeV Sim	TON  le Construction LLC egrass Contracting Construction Construction Color & Murphy Const	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan company, Inc. Company, Inc.	LLION ESAL (TYPE VI HNESS)	AL MAXIMUM SIZE II PAVEMENT  175.00 151.25 200.00 175.00 144.00	35,000.00 30,250.00 40,000.00 35,000.00 28,800.00
Ow Blu- Cro Tay DeV Sim	TON  le Construction LLC egrass Contracting Construction Color & Murphy Const. Vere Construction Conpson Construction Conpson Construction Construction Construction Construction Construction Construction Construction Cons	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan Dompany, Inc. Company, Inc. TE	LLION ESAL (TYPE VI HNESS) 200 ENT, 3/4-INCH NOMINA	AL MAXIMUM SIZE II PAVEMENT  175.00 151.25 200.00 175.00 144.00 165.00 135.00	35,000.00 30,250.00 40,000.00 35,000.00 28,800.00 33,000.00 27,000.00
Ow Blu- Cro Tay Dev Sim EN0	TON  le Construction LLC egrass Contracting Construction	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan company, Inc. Company, Inc. TE SUPERPAVE PAVEME AGGREGATE, <0.3 MI	LLION ESAL (TYPE VI HNESS) 200 ENT, 3/4-INCH NOMINA	AL MAXIMUM SIZE II PAVEMENT  175.00 151.25 200.00 175.00 144.00 165.00 135.00	35,000.00 30,250.00 40,000.00 35,000.00 28,800.00 33,000.00 27,000.00
Ow Bluc Cro Tay Dev Sim ENO 40101-0900	TON  le Construction LLC egrass Contracting Construction	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan company, Inc. Company, Inc. TE  SUPERPAVE PAVEME AGGREGATE, <0.3 MI	LLION ESAL (TYPE VI HNESS) 200 ENT, 3/4-INCH NOMINA LLION ESAL	AL MAXIMUM SIZE II PAVEMENT  175.00 151.25 200.00 175.00 144.00 165.00 135.00  AL MAXIMUM SIZE	35,000.00 30,250.00 40,000.00 35,000.00 28,800.00 33,000.00 27,000.00
Ow Blue Cro Tay Dev Sim ENO 40101-0900	TON  le Construction LLC egrass Contracting Construction LLC	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan company, Inc. Company, Inc. TE SUPERPAVE PAVEME AGGREGATE, <0.3 MI Corporation	LLION ESAL (TYPE VI HNESS) 200 ENT, 3/4-INCH NOMINA LLION ESAL	AL MAXIMUM SIZE II PAVEMENT  175.00 151.25 200.00 175.00 144.00 165.00 135.00  AL MAXIMUM SIZE  170.00	35,000.00 30,250.00 40,000.00 35,000.00 28,800.00 33,000.00 27,000.00
Ow Blu- Cro Tay Dev Sim EN0 40101-0900 Ow Blu- Cro	TON  le Construction LLC egrass Contracting Construction LLC egrass Contracting Construction Con	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan company, Inc. Company, Inc. TE SUPERPAVE PAVEME AGGREGATE, <0.3 MI Corporation Company	LLION ESAL (TYPE VI HNESS) 200 ENT, 3/4-INCH NOMINA LLION ESAL	AL MAXIMUM SIZE II PAVEMENT  175.00 151.25 200.00 175.00 144.00 165.00 135.00  AL MAXIMUM SIZE  170.00 145.00	35,000.00 30,250.00 40,000.00 35,000.00 28,800.00 33,000.00 27,000.00
A0101-0500  Owing Blue Crook Simme ENG  40101-0900  Owing Blue Crook Tay	TON  le Construction LLC egrass Contracting Construction LLC egrass Contracting Construction Con	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan Dompany, Inc. Company, Inc. TE  SUPERPAVE PAVEME AGGREGATE, <0.3 MI Corporation Company cruction Company cruction Company cruction Company cruction Company	LLION ESAL (TYPE VI HNESS) 200 ENT, 3/4-INCH NOMINA LLION ESAL	AL MAXIMUM SIZE II PAVEMENT  175.00 151.25 200.00 175.00 144.00 165.00 135.00  AL MAXIMUM SIZE  170.00 145.00 90.00	35,000.00 30,250.00 40,000.00 35,000.00 28,800.00 27,000.00 119,000.00 101,500.00 63,000.00
Ow Blue Cro Tay Dev Sim ENG 40101-0900 Ow Blue Cro Tay Dev Blue Cro Tay Dev Dev Dev Dev Dev Dev Dev Dev Dev Sim ENG Tay Dev Si	TON  le Construction LLC egrass Contracting Construction LLC egrass Contracting Construction Con	SUPERPAVE PAVEME AGGREGATE, <0.3 MI SMOOTHNESS/ROUGE Corporation Company cruction Compan Company, Inc. Company, Inc. TE  SUPERPAVE PAVEME AGGREGATE, <0.3 MI Corporation Company cruction Compan	LLION ESAL (TYPE VI HNESS) 200 ENT, 3/4-INCH NOMINA LLION ESAL	AL MAXIMUM SIZE II PAVEMENT  175.00 151.25 200.00 175.00 144.00 165.00 135.00  AL MAXIMUM SIZE  170.00 145.00 90.00 175.00	35,000.00 30,250.00 40,000.00 35,000.00 28,800.00 27,000.00 119,000.00 101,500.00 63,000.00 122,500.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
55201-0200	CUYD	STRUCTURAL CONC	RETE, CLASS A (AE)		
Owle	e Construction LLC		245	800.00	196,000.00
Blue	grass Contracting Co	orporation		440.00	107,800.00
Crow	vder Construction Co	ompany		500.00	122,500.00
Taylo	or & Murphy Constr	ruction Compan		730.00	178,850.00
DeV	ere Construction Co	mpany, Inc.		600.00	147,000.00
Simp	oson Construction Co	ompany, Inc.		600.00	147,000.00
ENG	SINEER'S ESTIMAT	ГЕ		950.00	232,750.00
55201-0800	CUYD	STRUCTURAL CONC	RETE, CLASS D (AE)		
Owle	e Construction LLC		145	1,300.00	188,500.00
Blue	grass Contracting Co	orporation		750.00	108,750.00
Crow	vder Construction Co	ompany		850.00	123,250.00
Taylo	or & Murphy Constr	ruction Compan		905.00	131,225.00
DeV	ere Construction Co	mpany, Inc.		775.00	112,375.00
Simp	oson Construction Co	ompany, Inc.		860.00	124,700.00
ENG	INEER'S ESTIMAT	ГЕ		1,150.00	166,750.00
55201-1200	CUYD	STRUCTURAL CONC	RETE, CLASS SEAL		
Owle	e Construction LLC		2	200.00	400.00
Blue	grass Contracting Co	orporation		1,496.00	2,992.00
Crow	vder Construction Co	ompany		325.00	650.00
Taylo	or & Murphy Constr	ruction Compan		550.00	1,100.00
DeV	ere Construction Co	mpany, Inc.		2,000.00	4,000.00
Simp	oson Construction Co	ompany, Inc.		800.00	1,600.00
ENG	INEER'S ESTIMAT	ГЕ		500.00	1,000.00
55202-2000	SQYD	STRUCTURAL CONC	RETE, CLASS D (AE), F	FOR APPROACH SLA	ABS, TYPE 2
Owle	e Construction LLC		80	260.00	20,800.00
Blue	grass Contracting Co	orporation		284.00	22,720.00
Crow	vder Construction Co	ompany		250.00	20,000.00
Taylo	or & Murphy Constr	ruction Compan		560.00	44,800.00
DeV	ere Construction Co	mpany, Inc.		434.70	34,776.00
Simp	oson Construction Co	ompany, Inc.		280.00	22,400.00
ENG	INEER'S ESTIMAT	ГЕ		350.00	28,000.00
55302-3300	LNFT	PRECAST, PRESTRES	SSED CONCRETE AASI	HTO GIRDERS , TYP	E III
Owle	e Construction LLC		730	195.00	142,350.00
Blue	grass Contracting Co	orporation		221.00	161,330.00
	vder Construction Co	=		250.00	182,500.00
	or & Murphy Constr			215.00	156,950.00
DeV	ere Construction Co.	mpany, Inc.		230.00	167,900.00
Simp	oson Construction Co	ompany, Inc.		220.00	160,600.00
ENG	SINEER'S ESTIMAT	ГЕ		350.00	255,500.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
55401-1000	LB	REINFORCING STEEL			
Owle	e Construction LL	C	29,760	1.10	32,736.00
Blue	grass Contracting	Corporation	,	1.20	35,712.00
	vder Construction	_		1.00	29,760.00
Tayl	or & Murphy Con	struction Compan		1.10	32,736.00
DeV	ere Construction (	Company, Inc.		1.00	29,760.00
Simp	oson Construction	Company, Inc.		0.90	26,784.00
ENG	SINEER'S ESTIM.	ATE		1.30	38,688.00
55401-2000	LB	REINFORCING STEEL,	EPOXY COATED		
Owle	e Construction LL	C	19,740	1.50	29,610.00
Blue	grass Contracting	Corporation		1.75	34,545.00
Crov	vder Construction	Company		1.50	29,610.00
Tayl	or & Murphy Con	struction Compan		1.15	22,701.00
DeV	ere Construction (	Company, Inc.		1.25	24,675.00
Simp	oson Construction	Company, Inc.		0.95	18,753.00
ENC	SINEER'S ESTIM	ATE		1.70	33,558.00
55601-0800	LNFT	BRIDGE RAILING, CO	NCRETE, NEW JERSE	Y SAFETY SHAPE	
Owle	e Construction LL	C	250	80.00	20,000.00
Blue	grass Contracting	Corporation		131.00	32,750.00
Crov	vder Construction	Company		75.00	18,750.00
Tayl	or & Murphy Con	struction Compan		112.00	28,000.00
DeV	ere Construction (	Company, Inc.		75.00	18,750.00
Simp	oson Construction	Company, Inc.		66.00	16,500.00
ENC	SINEER'S ESTIM	ATE		175.00	43,750.00
56401-1000	EACH	BEARING DEVICE, EL	ASTOMERIC		
Owle	e Construction LL	C	14	470.00	6,580.00
Blue	grass Contracting	Corporation		355.00	4,970.00
Crov	vder Construction	Company		400.00	5,600.00
Tayl	or & Murphy Con	struction Compan		325.00	4,550.00
DeV	ere Construction (	Company, Inc.		1,250.00	17,500.00
Simp	oson Construction	Company, Inc.		350.00	4,900.00
ENC	SINEER'S ESTIM	ATE		750.00	10,500.00
56501-0400	LNFT	DRILLED SHAFTS, 36-	INCH DIAMETER		
Owle	e Construction LL	C	385	710.00	273,350.00
Blue	grass Contracting	Corporation		1,016.00	391,160.00
Crov	vder Construction	Company		750.00	288,750.00
	or & Murphy Con			1,050.00	404,250.00
DeV	ere Construction (	Company, Inc.		850.00	327,250.00
Simp	oson Construction	Company, Inc.		912.00	351,120.00
ENC	GINEER'S ESTIM	ATE		1,300.00	500,500.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
57502-0000	LPSM	TEMPORARY BRIDGE	3		
Owle	e Construction LLC		ALL	175,000.00	175,000.00
Blue	grass Contracting (	Corporation		180,000.00	180,000.00
Crov	vder Construction (	Company		300,000.00	300,000.00
Tayl	or & Murphy Cons	truction Compan		200,000.00	200,000.00
DeV	ere Construction C	ompany, Inc.		250,000.00	250,000.00
Simp	oson Construction (	Company, Inc.		324,000.00	324,000.00
ENG	SINEER'S ESTIMA	ATE .		150,000.00	150,000.00
60201-0400	LNFT	12-INCH PIPE CULVE	RT		
Owle	e Construction LLC		40	30.00	1,200.00
Blue	grass Contracting (	Corporation		49.00	1,960.00
Crov	vder Construction (	Company		55.00	2,200.00
Tayl	or & Murphy Cons	truction Compan		29.00	1,160.00
DeV	ere Construction C	ompany, Inc.		60.00	2,400.00
Simp	oson Construction (	Company, Inc.		52.50	2,100.00
ENG	SINEER'S ESTIMA	TE		45.00	1,800.00
60201-0600	LNFT	18-INCH PIPE CULVE	RT		
Owle	e Construction LLC		40	40.00	1,600.00
Blue	grass Contracting (	Corporation		52.00	2,080.00
Crov	vder Construction (	Company		60.00	2,400.00
Tayl	or & Murphy Cons	truction Compan		36.40	1,456.00
DeV	ere Construction C	ompany, Inc.		125.00	5,000.00
_	oson Construction (			58.00	2,320.00
ENG	SINEER'S ESTIMA	ATE		65.00	2,600.00
60210-0400	EACH	END SECTION FOR 12	-INCH PIPE CULVER	Т	
Owle	e Construction LLC		1	250.00	250.00
Blue	grass Contracting (	Corporation		425.00	425.00
Crov	vder Construction (	Company		280.00	280.00
-	or & Murphy Cons	=		495.00	495.00
	ere Construction C	* *		750.00	750.00
-	oson Construction (	± • ·		265.00	265.00
ENG	SINEER'S ESTIMA	ATE		350.00	350.00
60210-0600	EACH	END SECTION FOR 18	-INCH PIPE CULVER	T	
Owle	e Construction LLC		2	300.00	600.00
Blue	grass Contracting (	Corporation		415.00	830.00
	vder Construction (			400.00	800.00
	or & Murphy Cons			595.00	1,190.00
	ere Construction C			900.00	1,800.00
-	oson Construction (			365.00	730.00
ENG	SINEER'S ESTIMA	TE		600.00	1,200.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60404-200	0 EACH	CATCH BASIN, TYPE	2		
O	wle Construction LLC		1	1,000.00	1,000.00
В	luegrass Contracting C	corporation		5,000.00	5,000.00
	rowder Construction C	=		2,800.00	2,800.00
T	aylor & Murphy Const	ruction Compan		2,400.00	2,400.00
D	eVere Construction Co	ompany, Inc.		2,000.00	2,000.00
S	impson Construction C	ompany, Inc.		2,600.00	2,600.00
Е	NGINEER'S ESTIMA	TE		3,600.00	3,600.00
60901-170	0 LNFT	CURB, CONCRETE, 18	-INCH DEPTH		
O	wle Construction LLC		14	100.00	1,400.00
В	luegrass Contracting C	corporation		71.00	994.00
	rowder Construction C	± •		33.00	462.00
T	aylor & Murphy Const	ruction Compan		29.00	406.00
D	eVere Construction Co	ompany, Inc.		50.00	700.00
	impson Construction C	* *		55.00	770.00
E	NGINEER'S ESTIMA	TE		70.00	980.00
60902-060	0 LNFT	CURB AND GUTTER,	CONCRETE, 8-INCH D	ЕРТН	
O	wle Construction LLC		24	100.00	2,400.00
В	luegrass Contracting C	corporation		49.00	1,176.00
C	rowder Construction C	ompany		28.00	672.00
T	aylor & Murphy Const	ruction Compan		36.50	876.00
D	eVere Construction Co	ompany, Inc.		50.00	1,200.00
	impson Construction C			40.00	960.00
E	NGINEER'S ESTIMA	TE		35.00	840.00
61501-010	0 SQYD	SIDEWALK, CONCRE	ГЕ		
O	wle Construction LLC		35	65.00	2,275.00
В	luegrass Contracting C	Corporation		47.00	1,645.00
C	rowder Construction C	ompany		40.00	1,400.00
	aylor & Murphy Const	=		32.00	1,120.00
	eVere Construction Co	- ·		62.34	2,181.90
	impson Construction C			115.00	4,025.00
E	NGINEER'S ESTIMA	TE		60.00	2,100.00
61701-120	0 LNFT	GUARDRAIL SYSTEM	G4, TYPE 2, CLASS A	STEEL POSTS	
O	wle Construction LLC		75	15.00	1,125.00
В	luegrass Contracting C	corporation		14.00	1,050.00
	rowder Construction C	± •		20.00	1,500.00
	aylor & Murphy Const	=		17.50	1,312.50
	eVere Construction Co			17.50	1,312.50
	impson Construction C			14.00	1,050.00
Е	NGINEER'S ESTIMA	TE		40.00	3,000.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
61702-0800	EACH	TERMINAL SECTION	TYPE TANGENT		
Owle	Construction LLC		2	2,800.00	5,600.00
Blueg	grass Contracting C	orporation		4,150.00	8,300.00
Crow	der Construction C	ompany		2,300.00	4,600.00
Taylo	or & Murphy Const	ruction Compan		2,100.00	4,200.00
DeVe	ere Construction Co	ompany, Inc.		2,100.00	4,200.00
Simp	son Construction C	ompany, Inc.		4,150.00	8,300.00
ENG	INEER'S ESTIMA	ГЕ		3,600.00	7,200.00
61707-1000	LNFT	STRUCTURE TRANS	ITION RAILING, G4 SY	STEM	
Owle	Construction LLC		60	85.00	5,100.00
Blueg	grass Contracting C	orporation		63.00	3,780.00
Crow	der Construction C	ompany		100.00	6,000.00
Taylo	or & Murphy Const	ruction Compan		95.00	5,700.00
DeVe	ere Construction Co	ompany, Inc.		95.00	5,700.00
Simp	son Construction C	ompany, Inc.		63.00	3,780.00
ENG	INEER'S ESTIMA	ГЕ		100.00	6,000.00
61711-0000	EACH	IMPACT ATTENUAT	OR		
Owle	Construction LLC		1	14,000.00	14,000.00
Blueg	grass Contracting C	orporation		12,600.00	12,600.00
Crow	der Construction C	ompany		16,000.00	16,000.00
Taylo	or & Murphy Const	ruction Compan		13,800.00	13,800.00
DeVe	ere Construction Co	ompany, Inc.		13,800.00	13,800.00
Simp	son Construction C	ompany, Inc.		12,600.00	12,600.00
ENG	INEER'S ESTIMA	ГЕ		14,000.00	14,000.00
61901-0000	LNFT	FENCE			
Owle	Construction LLC		30	10.00	300.00
Blueg	grass Contracting C	orporation		46.00	1,380.00
Crow	der Construction C	ompany		16.00	480.00
Taylo	or & Murphy Const	ruction Compan		26.00	780.00
DeVe	ere Construction Co	ompany, Inc.		30.00	900.00
Simp	son Construction C	ompany, Inc.		16.00	480.00
ENG	INEER'S ESTIMA	ГЕ		15.00	450.00
61902-0000	EACH	GATE			
Owle	Construction LLC		1	800.00	800.00
Blueg	grass Contracting C	orporation		816.00	816.00
Crow	der Construction C	ompany		550.00	550.00
Taylo	or & Murphy Const	ruction Compan		650.00	650.00
DeVe	ere Construction Co	ompany, Inc.		800.00	800.00
_	son Construction C			525.00	525.00
ENG	INEER'S ESTIMA	ТЕ		2,000.00	2,000.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
62501-0000	ACRE	TURF ESTABLISHMEN	NT		
Owle	Construction LLC		1.3	2,000.00	2,600.00
Blueg	grass Contracting (	Corporation		2,685.00	3,490.50
Crow	der Construction (	Company		2,500.00	3,250.00
Taylo	r & Murphy Cons	truction Compan		1,400.00	1,820.00
DeVe	re Construction C	ompany, Inc.		2,500.00	3,250.00
Simps	son Construction (	Company, Inc.		3,800.00	4,940.00
ENGI	NEER'S ESTIMA	ATE		4,500.00	5,850.00
62632-0000	LPSM	PLANTINGS			
Owle	Construction LLC		ALL	11,500.00	11,500.00
Blueg	grass Contracting (	Corporation		4,200.00	4,200.00
Crow	der Construction (	Company		11,000.00	11,000.00
Taylo	r & Murphy Cons	truction Compan		4,000.00	4,000.00
DeVe	ere Construction C	ompany, Inc.		10,000.00	10,000.00
-	son Construction (	- ·		6,000.00	6,000.00
ENGI	NEER'S ESTIMA	TE		20,000.00	20,000.00
62901-0800	SQYD	ROLLED EROSION CO	ONTROL PRODUCT, T	YPE 2.D	
Owle	Construction LLC		2,100	1.50	3,150.00
Blueg	grass Contracting (	Corporation		4.50	9,450.00
Crow	der Construction (	Company		6.00	12,600.00
Taylo	r & Murphy Cons	truction Compan		3.00	6,300.00
	re Construction C			2.00	4,200.00
_	son Construction (			2.50	5,250.00
ENGI	NEER'S ESTIMA	ATE		6.00	12,600.00
63304-0900	SQFT	SIGNS, ALUMINUM PA	ANELS, TYPE 3 SHEE	TING	
	Construction LLC		20	40.00	800.00
_	grass Contracting (	•		70.00	1,400.00
	der Construction (			36.00	720.00
=	r & Murphy Cons	_		22.00	440.00
	re Construction C			21.80	436.00
_	son Construction (			23.00	460.00
ENGI	NEER'S ESTIMA	ATE		35.00	700.00
63316-1000	EACH	REMOVE AND RESET	SIGN		
Owle	Construction LLC		2	200.00	400.00
Blueg	grass Contracting (	Corporation		390.00	780.00
	der Construction (			140.00	280.00
=	r & Murphy Cons	_		50.00	100.00
	re Construction C			175.00	350.00
_	son Construction (			185.00	370.00
ENGI	NEER'S ESTIMA	ATE		275.00	550.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401-1500	LNFT	PAVEMENT MARKIN	NGS, TYPE H, SOLID		
Owle	e Construction LLC		4,500	2.00	9,000.00
Blue	grass Contracting Co	orporation		1.00	4,500.00
Crov	vder Construction Co	ompany		1.70	7,650.00
Tayl	or & Murphy Constr	uction Compan		1.00	4,500.00
DeV	ere Construction Con	mpany, Inc.		2.00	9,000.00
Simp	oson Construction Co	ompany, Inc.		0.95	4,275.00
ENG	SINEER'S ESTIMAT	TE		3.50	15,750.00
63501-2000	LPSM	TEMPORARY TRAFF	TIC CONTROL, TRAFFI	C SIGNAL SYSTEM	
Owle	e Construction LLC		ALL	55,000.00	55,000.00
Blue	grass Contracting Co	orporation		31,000.00	31,000.00
Crov	vder Construction Co	ompany		90,000.00	90,000.00
Tayl	or & Murphy Constr	uction Compan		80,000.00	80,000.00
DeV	ere Construction Con	mpany, Inc.		60,000.00	60,000.00
_	oson Construction Co	= -		31,000.00	31,000.00
ENG	SINEER'S ESTIMAT	TE		25,000.00	25,000.00
63502-1300	EACH	TEMPORARY TRAFF	TIC CONTROL, DRUM		
Owle	e Construction LLC		50	55.00	2,750.00
Blue	grass Contracting Co	orporation		70.00	3,500.00
Crov	vder Construction Co	ompany		52.00	2,600.00
Tayl	or & Murphy Constr	uction Compan		30.00	1,500.00
DeV	ere Construction Con	mpany, Inc.		60.00	3,000.00
Simp	oson Construction Co	ompany, Inc.		65.00	3,250.00
ENG	INEER'S ESTIMAT	E		70.00	3,500.00
63503-0700	LNFT	TEMPORARY TRAFF	TIC CONTROL, PAVEM	ENT MARKINGS	
Owle	e Construction LLC		3,100	1.00	3,100.00
Blue	grass Contracting Co	orporation		0.65	2,015.00
Crov	vder Construction Co	ompany		2.00	6,200.00
-	or & Murphy Constr	_		0.60	1,860.00
DeV	ere Construction Con	mpany, Inc.		2.00	6,200.00
Simp	oson Construction Co	ompany, Inc.		0.75	2,325.00
ENG	SINEER'S ESTIMAT	TE		2.00	6,200.00
63504-1000	SQFT	TEMPORARY TRAFF	TIC CONTROL, CONSTI	RUCTION SIGN	
Owle	e Construction LLC		250	15.00	3,750.00
Blue	grass Contracting Co	orporation		30.00	7,500.00
Crov	vder Construction Co	ompany		12.00	3,000.00
Tayl	or & Murphy Constr	uction Compan		13.50	3,375.00
DeV	ere Construction Con	mpany, Inc.		13.50	3,375.00
Simp	oson Construction Co	ompany, Inc.		14.00	3,500.00
ENG	INEER'S ESTIMAT	Œ		25.00	6,250.00

Date: 02/08/12

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63506-0500	HOUR	TEMPORARY TRAFFI	C CONTROL, FLAGG	ER	
Owle Construction LLC 180			21.10	3,798.00	
Blueg	rass Contracting	Corporation		21.10	3,798.00
Crowd	der Construction	Company		21.10	3,798.00
Taylo	r & Murphy Con	struction Compan		21.10	3,798.00
DeVe	re Construction C	Company, Inc.		21.10	3,798.00
Simps	on Construction	Company, Inc.		21.10	3,798.00
ENGINEER'S ESTIMATE			21.10	3,798.00	
63701-0000	EACH	FIELD OFFICE			
Owle	Construction LL	C	1	35,000.00	35,000.00
Bluegrass Contracting Corporation			18,750.00	18,750.00	
Crowder Construction Company			28,000.00	28,000.00	
Taylor & Murphy Construction Compan			17,000.00	17,000.00	
DeVere Construction Company, Inc.			40,000.00	40,000.00	
Simpson Construction Company, Inc.				90,000.00	90,000.00
ENGINEER'S ESTIMATE			25,000.00	25,000.00	
64620-0400	EACH	REMOVE AND RESET	MAILBOX		
Owle	Construction LL	C	4	50.00	200.00
	rass Contracting			250.00	1,000.00
Crowder Construction Company			150.00	600.00	
Taylor & Murphy Construction Compan			85.00	340.00	
DeVere Construction Company, Inc.			150.00	600.00	
Simpson Construction Company, Inc.			155.00	620.00	
ENGINEER'S ESTIMATE			260.00	1,040.00	

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Project Name: SR 1737, REPLACEMENT OF BRIDGE 79 OVER CANEY CREEK

#### BID TOTAL CHECK PASS

Date: 02/08/12

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Owle Construction LLC	2,011,586.00	2,011,586.00	
Bluegrass Contracting Corporation	2,058,313.00	2,058,313.00	
Crowder Construction Company	2,167,400.00	2,167,400.00	
Taylor & Murphy Construction Compan	2,235,433.00	2,235,433.00	
DeVere Construction Company, Inc.	2,295,494.40	2,295,494.40	
Simpson Construction Company, Inc.	2,357,598.50	2,357,598.50	

The apparent low bidder is 25 % below the engineer's estimate.

Bid Schedule - Base

Project No.: NC PFH 102-1(1)

Project Name: SR 1737, REPLACEMENT OF BRIDGE 79 OVER CANEY CREEK

BID ITEM CHECK PASS

Date: 02/08/12

Bidder	Item No.	Bidder's Extension	Computed Extension
--------	----------	-----------------------	--------------------

No extension errors in this Schedule.